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General Instructions

The motive for enabling this mock SAMPLE test is to familiarize the candidates with
the Computer Based Test (CBT) environment of the PGEE 2018, conducted by IIIT
Hyderabad.

The types of questions and marking scheme is only illustrative and is in no way
indicative or representation of the type of questions and marking scheme of the PGEE
question paper.

The examination is spread over two sections, Section 1 (General Aptitude Questions)
and Section 2 (Civil Engineering Questions). You cannot review your answers to
Section 1 once you start answering Section 2.
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Section 1

(General Aptitude)
Instructions

No candidate will be allowed to leave the hall till the end of the examination.

Pens, Pencils, Notes, books, log tables, Calculators, any programmable devices,
communication devices, any other electronic devices are strictly prohibited in the
examination center.

Rough sheets and pens will be provided in the examination center. A virtual on-
screen calculator is avialable for use.

It is a computer based entrance test with multiple choice type questions.

No clarification will be provided during the examination.

Some questions may have more than one answer correct. Points will be given only
when ALL the correct answers are marked and NONE of the incorrect are marked.



(1)
Three cards are chosen at random from a pack of 52 cards. In how many ways this
can be done if all the three cards are of different types?

(A)
4% 133
(B)
13 x12 x 11
©)
53013
(D)
(3x13)/(12 x 11)



2)

A certain stock of food items is sufficient for 40 men for 12 days. Assuming the

eating capacity of all the men to be the same. Find how many days the food stock
will last if an additional 15 men join the group?

(A)

81
(B)

8.3
©

(D)



3)
Three wheels making 60, 36 and 24 revolutions in a minute, start at a certain point
in their circumference downwards. Find when they will again come together on the
same position.

(A)

in 6 seconds
(B)

in 5 seconds
©

in 10 seconds
(D)

Never



“4)
The difference between compound interest and simple interest on a certain amount
of money at 5% per annum for 2 years is Rs. 15. Find the principal sum.

(A)

Rs. 4500
(B)

Rs. 7500
©

Rs. 5000
(D)

Rs. 6000



&)
All shirts are T-shirts with buttons.
No yellow T-shirt has buttons.
No shirt is yellow.
If the first two statements are true, the third statement is

(A)
True
(B)
False
©
Uncertain



(6)
The hotel is two blocks east of the drugstore.
The market is one block west of the hotel.
The drugstore is west of the market.
If the first two statements are true, the third statement is

(A)
True
(B)
False
©
Uncertain



(7

In comparison to the standard typewriter keyboard, the ABC keyboard, which places
the most-used keys nearest the typist’s strongest fingers, allows faster typing and
results in less fatigue. Therefore, replacement of standard keyboards with the ABC
keyboard will result in an immediate reduction of typing costs.

Which of the following, if true, would most weaken the conclusion drawn above?

(A)
People who use both standard and ABC keyboards report greater difficulty in
the transition from the ABC keyboard to the standard keyboard than in the tran-
sition from the standard keyboard to the ABC keyboard.

(B)
ABC keyboards are no more expensive to manufacture than the standard key-
boards and require less frequent repair than the standard keyboards.

©
Novice typists can learn to use the ABC keyboard in about the same amount of
time that it takes them to learn to use the standard keyboard.

(D)
The number of businesses and government agencies that use ABC keyboards is
increasing each year.

(E)
The more training and experience an employee has had with the standard key-
board, the more costly it is to train that employee to use the ABC keyboard.



)

In Asia, where palm trees are non-native, their flowers have traditionally been polli-
nated by hand, which has kept palm fruit productivity unnaturally low. When wee-
vils known to be efficient pollinators of palm flowers were introduced into Asia in
1980, palm fruit productivity increased-by up to 50 percent in some areas-but then
decreased sharply in 1984.

Which of the following statements, if true, would best explain the 1984 decrease in
productivity?

(A)
Rapid increases in productivity tend to deplete trees of nutrients needed for the
development of the fruit-producing female flowers.

(B)
Prices for palm fruit fell between 1980 and 1984 following the rise in produc-
tion and a concurrent fall in demand.

©
Imported trees are often more productive than native trees because the imported
ones have left behind their pests in their native lands.

(D)
The weevil population in Asia remained at approximately the same level be-
tween 1980 and 1984.

(E)
Prior to 1984 another species of insect pollinated the Asian palm trees, but not
as efficiently the species of weevil that was introduced in 1980.



Read the paragraphs below to answer the following two questions.

The test that Henrich introduced to the Machiguenga was called the ultimatum game.
The rules are simple: in each game there are two players who remain anonymous to
each other. The first player is given an amount of money, say $100, and told that he
has to offer some of the cash, in an amount of his choosing, to the other subject. The
second player can accept or refuse the split. But there’s a hitch: players know that
if the recipient refuses the offer, both leave empty-handed. North Americans, who
are the most common subjects for such experiments, usually offer a 50-50 split when
on the giving end. When on the receiving end, they show an eagerness to punish the
other player for uneven splits at their own expense. In short, Americans show the
tendency to be equitable with strangers and to punish those who are not.

Among the Machiguenga, word quickly spread of the young, square-jawed visitor
from America giving away money. The stakes Henrich used in the game with the
Machiguenga were not insubstantial- roughly equivalent to the few days’ wages they
sometimes earned from episodic work with logging or oil companies. So Henrich
had no problem finding volunteers. What he had great difficulty with, however, was
explaining the rules, as the game struck the Machiguenga as deeply odd.

When he began to run the game it became immediately clear that Machiguengan
behavior was dramatically different from that of the average North American. To
begin with, the offers from the first player were much lower. In addition, when on the
receiving end of the game, the Machiguenga rarely refused even the lowest possible
amount. “It just seemed ridiculous to the Machiguenga that you would reject an
offer of free money,” says Henrich. “They just didn’t understand why anyone would
sacrifice money to punish someone who had the good luck of getting to play the other
role in the game.”



®)

From the above passage, what can you conclude about who is Henrich?

(A)
Henrich is a social scientist studying human psychology.
(B)
Henrich is a volunteer from North America distributing money.
©
Henrich is movie director who is doing
a film on the Machiguenga people.
(D)
Henrich is a businessman working with oil and logging companies and exploit-
ing the Machiguenga people.

(E)

None of the above.



(10)
Which of the following best describes the objective of the game that Henrich intro-
duced:

(A)

To see if Americans are more rational than the Machiguenga people.
(B)

To see if the Machiguenga people are more rational than North Americans.
©

To compare social and economic behaviour between different cultural groups.
(D)

To verify whether money is a factor in the cohesion of a community.

(E)

None of the above.
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Section 2

(Civil Engineering)
Instructions

No candidate will be allowed to leave the hall till the end of the examination.

Pens, Pencils, Notes, books, log tables, Calculators, any programmable devices,
communication devices, any other electronic devices are strictly prohibited in the
examination center.

Rough sheets and pens will be provided in the examination center. A virtual on-
screen calculator is avialable for use.

It is a computer based entrance test with multiple choice type questions.

No clarification will be provided during the examination.

Some questions may have more than one answer correct. Points will be given only
when ALL the correct answers are marked and NONE of the incorrect are marked.



(A)

Newton’s law of viscosity for fluid states that the shear stress is

Directly Proportional to Angular Deformation

Inversely Proportional to Angular Deformation

Directly Proportional to Shear Strain

Inversely Proportional to Shear Strain



A rectangular channel 6 m wide carries 2.8 m®/s at a depth of 0.9 m. The height
of the weir has to be doubled to increase the discharge. The velocity of approach to
be considered in the calculation of discharge

(A) 0.26 m/s
(B) 0.62 m/s
(C) 0.52m/s

(D) 0.25m/s



The total energies at point A and B are 20 m and 10 m respectively, the head lost
between A and B is given by

(A) 60 m
(B) 10 m
(C) 30 m

(D) 6m



A closely coiled helical spring is made out of a 10 mm diameter steel rod, the coils having
12 complete turns and a mean diameter of 100 mm. It carries an axial pull of 25 kg. What is
the shear deflection under the pull. G=0.8x10° kg/cm?

(A) 2cm

(B) 3cm

(C) 4cm

(D) 5cm



Determine the area of steel required for a beam, b=300 mm, d=675 for carrying a factored
moment of 185 kN-m. Assume f;=415 N/mm? and f4=20N/mm? (use limit state method)

(A) 520 mm?
(B) 650 mm?*
(C) 830 mm?*

(D) 900 mm?



A simply supported beam is 6 m span and carries a characteristic load of 60 kN/m. If 6 Nos
of 20 mm bars are provided at the centre of the span and 4 Nos of these bars are continued
into the supports, What is the moment of resistance of bars which continued into supports?
(use limit state method)

(A) 300 kNm

(B) 200 kNm

(C) 170 kNm

(D) 270 kNm



Match the items of the two lists and select the correct answer.
List—I (Boring Methods)

P. Auger Boring

Q. Wash Boring

R. Percussion Drilling

S. Rotary Drilling

List—II (Field Condition)

1. Below water table in all soil types except hard soils and rocks
2. Large diameter boreholes over 150 mm in size

3. Explorations for shallow foundations and highways

4. Bouldery and gravelly strata

Codes: PQRS

(A) 3142
(B) 1243
(C) 2341

(D) 3124



Negative skin friction occurs when :

(A) An upward drag exists in the pile

(B) The surrounding soil settles more than the pile
(C) The pile passes continuously through a firm soil

(D) The driving operation begins



Compaction by vibratory roller is the best method of compaction in case of:
(A) Moist silty sand

(B) Well graded dry sand

(C) Clay of medium compressibility

(D) Silt of high compressibility



10.

(A)
(B)
©)
(D)

The rank of the matrix



